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Question Number : 1 Question Id : 2549896254 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which screen is displayed when you turn on your computer with Windows operating system that shows all the icons?
Options :

1. ¥ Desktop

2. % Face to Face

3. % Viewer

4. % View Space

Question Number : 1 Question Id : 2549896254 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Windows (fdSIeT) SToRfET R 919 30 301 SgeR, fory fdeiet SifiRfd Ren &, 37 d €, O Tt sieehi=g & guifcdt g3 i ot
THI Gerdl &

Options :

1. ¥ S&HeU

Question Number : 2 Question Id : 2549897562 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following units represents the largest amount of data?
Options :

1. % Kilobyte

2. % Terabyte

3. # Gigabyte

4. % Megabyte



Question Number : 2 Question Id : 2549897562 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

Ry & P @ 5o e 39 T 9 IR 1 TR SR 7
Options :

1. ® fHaase (Kilobyte)

2. ¢ EEC (Terabyte)

3. ® TEIEC (Gigabyte)

4. % 13I"TEIT_{C’(Megabyte)

Question Number : 3 Question Id : 2549897702 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

FireWire is another name for the “ ” interface.
Options :

1. # parallel

2. ¥ IEEE 1394

3. % USB

4. % MIDI

Question Number : 3 Question Id : 2549897702 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

HRRARR " " Y & oI T SR A B
Options :

1. ® JAMGR (R

2. ¥ IEEE 1394

3. % USB

4. % MIDI

Question Number : 4 Question Id : 2549897890 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

The is an open source scripting language for predictive analytics and data visualization.
Options :

1. ¥ R programming language

2. # C programming language

3. ¥ C++ programming language

4. % LISP

Question Number : 4 Question Id : 2549897890 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

JaiH faRavd! 3R STl TxATadid- /g U 31U WY fh I U ]|
Options :

1. ¢ R T 4TS

2. % C THT IS

3. % C++ TIUTHT HToT

4. % LISP

Question Number : S Question Id : 2549898402 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which function returns arctangent of a number in MS Excel?
Options :

1. ¥ RTAN function

2. % TANR function

3. ¥ ARCTAN function

4. % ATAN function

Question Number : 5 Question Id : 2549898402 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



MS Excel & DI T Tha= Tdh AT BT 3Thcwie Sl 82
Options :

1. ¥ RTAN HhaRH

2. ¥ TANR HhaRMH

3. # ARCTAN haRH

4. ¥ ATAN R

Question Number : 6 Question Id : 2549898869 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The main working memory used by the computer is:
Options :

1. ¥ RAM

2. ¥ ROM

3. # Flash memory

4. % Mass memory

Question Number : 6 Question Id : 2549898869 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

R gRT IO B S arell g i T AR R |
Options :

1. ¢ 387 TR AERY (RAM)

2. % AT 3N HHRT (ROM)

3. % TR HERY

4. % OIG HARY

Question Number : 7 Question Id : 2549898967 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A can work as a flat database.



Options :

1. ¥ spread sheet
2. % oracle

3. % language

4. % data

Question Number : 7 Question Id : 2549898967 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

& TRic 229 & =0 § BTH B Jhd/ghdi g |
Options :

1. ¢ gs e
2. % 3RNFHA
3. % daol
4. % 3T

Question Number : 8 Question Id : 2549899350 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

QR Code readers and bar code readers are types of:
Options :

1. * monitor

2. * printer

3. % scanner

4. * application software

Question Number : 8 Question Id : 2549899350 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

QR P18 T 3R IR &Is s P UPR |

Options :



1. ® gidex

2. % iR

3. ¢ TR

4. % UEhYE Fiuea

Question Number : 9 Question Id : 2549899352 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A digital records images digitally on disk or its memory.
Options :

1. ¥ camera

2. % monitor

3. ® mouse

4. % printer

Question Number : 9 Question Id : 2549899352 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

e fEftled ofaul & fafted a8 @ fewe ar st A0 R RS axar ?
Options :

1. ¥ B

2. % HIHAR

3. % HI3Y™

4. % fiicd

Question Number : 10 Question Id : 25498911686 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Part of CPU which coordinates all functions of computer and other components:
Options :

1. ¥ Mother board



2. #* Coordination board
3. % Control unit
4. % ALU

Question Number : 10 Question Id : 25498911686 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

g (CPU) BT S T R HHR 3R 30 gedh! & it vl & gH-ad Bl /2
Options :

1. % AR

2. % GGy dls

3. ¢ HUCId gfHe

4. % TUAY (ALU)

Question Number : 11 Question Id : 25498912005 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
is the low-level programming language. It can only be represented by Os and 1s.
Options :
1. # BASIC language
2. % COBOL language
3. ¥ Machine language
4. % FORTRAN

Question Number : 11 Question Id : 25498912005 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
- TTTfERT WIS 81 S99 ad 0s 3R 1s §RT 81 GRIAT off Gabdl |
Options :
1. % SR U
2. % DIEIe U



3.« TR YIS
4. % RCH

Question Number : 12 Question Id : 25498929724 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following best describes static RAM?

Options :

1. ¥ Memory devices that are magnetic in nature and do not require constant refreshing.

2. % Memory devices that are magnetic in nature and require constant refreshing.

3. ¥ Memory devices in which stored data will not be retained with the power applied unless constantly refreshed.

4. ¥ Memory devices in which stored data is retained as long as power is applied.

Question Number : 12 Question Id : 25498929724 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

mﬁﬁﬁqstaticRAMmiﬂ)Wﬂ%&@@mW%?

Options :

1. % TARY fEargy ot uehfa & gadia gl § SR 3¢ IR-9R ShY 8! dA1 usar g |

2. % TR fEarsy S uepfa & Jaaia g1l § 3R 3 aR-aR A S uSar g |

3. % 0K fSargy, o SR IR-aR STh 181 fohaT ST df S9H WRId el &I an] faegd STYfd & |1y §HIY W1 HT T8l g
4.« TR fEarzy o TEid SeT a9 do I8dT § SId ad faggd STYfd aRPbRR 8l g

Question Number : 13 Question Id : 25498929888 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The most visually recognisable barcode contains the UPC, which is the abbreviation of:
Options :

1. ® Universal Precision Command

2. % Uneven Program Code

3. ¥ Universal Product Code



4. % Universal Program Code

Question Number : 13 Question Id : 25498929888 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

3fRdt | TR 3T A Ugm o Yo a1l §RebIS & UPC Blell B, 39T guf A am 22
Options :

1. % gHadd DiRkeH Hars

2. % 3T3a UMITH Hlg

3. ¢ gHaYd UISdE I8

4. % gHaHd UUH $I8

Question Number : 14 Question Id : 25498933091 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Most of the graphics tablets are connected to a computer using port.
Options :

1. # serial

2. % PS/2

3. ¥ USB

4. % parallel

Question Number : 14 Question Id : 25498933091 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

31T Mty el O & e q R ¥ IS 8l 8
Options :

1. % difad

2. % PS/2

3. ¥ USB

4. % QXA



Question Number : 15 Question Id : 25498934235 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A floppy disk contain(s) .
Options :

1. # sectors only

2. % circular tracks only

3. ¥ both circular tracks and sectors
4. % track ball

Question Number : 15 Question Id : 25498934235 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
B femd 8Tl
Options :

1. % had Jae

2. % $ad gUIBR ¢h

3. ¢ GUIGR <Y 3R Jaex gl
4. % SH AT

Question Number : 16 Question Id : 2549898158 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

While accessing files and folders in Windows, is an error message that is displayed when you do not have appropriate access rights.
Options :

1. ¥ Access Denied

2. % Access Not Allowed

3. ¥ Wrong Access

4. % Invalid Access

Question Number : 16 Question Id : 2549898158 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

wg@wqﬁq%dugm fYHR &1 8Id &, A Windows H HTICH 3R WIeay & TR & SR HUSH! Th TR AR U BT 8, 98
R 5?2

Options :

1. ¢ TR9 fe1gs (Access Denied)

2. % TR AIC 3ASS (Access Not Allowed)

3. % ?TT[QEFQQ (Wrong Access)

4, % gqélés qa@q (Invalid Access)

Question Number : 17 Question Id : 2549898218 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following terms refers to the act of a user finding an alternate path of gaining access to a server?
Options :

1. # Corrupt

2. % Bypass

3. % Crash

4. % Scan

Question Number : 17 Question Id : 2549898218 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

79 & J goR gRT U ol 7T ok o TR & qab el A i o AT & ST ST 82
Options :

1. % hP

2. ¢ SIRUN™

3. % oy

4. % IhA

Question Number : 18 Question Id : 2549899609 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following printers works like a photocopy machine?

Options :

1. ¥ Laser printer

2. % Chain printer

3. % Dot matrix printer

4. % Drum printer

Question Number : 18 Question Id : 2549899609 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

B 7 fliex T Wit A=fiF &1 dvg HTH Bl 82

Options :

Question Number : 19 Question Id : 25498910776 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is it called when printers and scanners are shared centrally in a computer network?
Options :

1. % Internet sharing

2. % Data sharing

3. ¥ Resource sharing

4. % Memory sharing

Question Number : 19 Question Id : 25498910776 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % gaxAe yafaT

2. % ST TR

3. ¢ R =R

4. % TORY 2R

Question Number : 20 Question Id : 25498911216 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What is the output of the following MS-Excel formula?

=SUMSQ (9, 10)
Options :

1. % 10081

2. ¥ 181

3.% 19

4. % 8100

Question Number : 20 Question Id : 25498911216 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fAfIRId MS-Excel I3 &1 3T3TYCT H1 52

=SUMSAQ (9, 10)
Options :

1. % 10081
2.9 181

3.% 19

4. % 8100

Question Number : 21 Question Id : 25498913428 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following short cut key is used to enter a new line in the same cell in MS-Excel 2019 work sheet?

Options :

1. ¥ Alt+Enter

2. % Tab+Enter

3. % Shift+Enter

4. % Ctrl+Enter

Question Number : 21 Question Id : 25498913428 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Excel 2019 gheiTe & T g1 Td & U T3 13- UfAY &34 & e 9 & § {5y idewhe ont &1 IuaiT far S |2
Options :

1. ¥ Alt+Enter

2. % Tab+Enter

3. % Shift+Enter

4. % Ctrl+Enter

Question Number : 22 Question Id : 25498918475 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is an advantage of laser printers?
Options :

1. % May require short warm-up times

2. # Have a larger footprint

3. % High voltage usage leads to low carbon emissions

4. ¥ Increase productivity

Question Number : 22 Question Id : 25498918475 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % Y IH-3(0 eT3H P MaRIHdT 8l bl §

2. % dd pefic gld &

3. % dieeol & 3P IUTNT A HIe- BT HH ST idl §
4. ¢ JAGHAT 9 W &

Question Number : 23 Question Id : 25498918556 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is equivalent to 124 nibbles?
Options :

1. % 62 bits

2. % 124 bits

3. % 124 bytes

4. % 62 bytes

Question Number : 23 Question Id : 25498918556 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
fFofad 7 9 oH-at, 124 e & ReR 82
Options :

1. % 62 focH

2. % 124 focy

3. % 124 dlgcH

4. ¢ 62 digcH

Question Number : 24 Question Id : 25498919283 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following is a network utility used to gauge whether the end user can reach the devices connected to the internet?



Options :
1. * Netstat
2. ¥ Ping
3. * Connect

4. % Send/Receive

Question Number : 24 Question Id : 25498919283 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fafRed & § &1 W U Aeds SUAINIT ¢ o SUTNT I8 Udl A & o faea oiran & o o sifad Suaiasd! Sexqie 9 98
ISR I Ugd qhdl § 1812

Options :

1. % 9cXc

2. ¢ U

3. % PdC

4. % /M4

Question Number : 25 Question Id : 25498919321 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a web browser?
Options :

1. ¥ Bing

2. % Google Chrome

3. ® Mozilla Firefox

4. % Safari

Question Number : 25 Question Id : 25498919321 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

afafad & 4 S 91 1o 39 FTIoR 71 82

Options :



1. ¥ Bing
2. % Google Chrome
3. % Mozilla Firefox
4. % Safari

Question Number : 26 Question Id : 25498919383 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is used to save files online and access them anywhere from any smartphone, tablet or computer?
Options :

1. ¥ Google Drive

2. # Google Talk

3. % Printer

4. % Hard Disk

Question Number : 26 Question Id : 25498919383 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

frafRad # O frgeT SuaiT wigdl & Sfi-are Ygor iR 3= bl Ht |EHH, Tade a1 HHeR ¥ el TR - & o fasar srar
&

Options :

1. ¢ 1[I §Id (Google Drive)

2. % T'IF‘[E'UW (Google Talk)

3. % W(Prin‘[er)

4. % BTS fSIP (Hard Disk)

Question Number : 27 Question Id : 25498920712 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which IP addresses are kept reserved for Class D multicast groups?
Options :



1. % 128.1.0.1 to 191.255.255.254
2. % 192.0.1.1 to 223.255.254.254
3.9 224.0.0.0 to 239.255.255.255
4. % 240.0.0.0 to 254.255.255.254

Question Number : 27 Question Id : 25498920712 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

D I & AeCIhRE Gig! & fog FafoRad o 4 forg 1p U990 &1 SR 3@ STl 52
Options :

1. % 128.1.0.1 ¥ 191.255.255.254

2. % 192.0.1.1 ¥ 223.255.254.254

3. ¢ 224.0.0.0 ¥ 239.255.255.255

4. % 240.0.0.0 T 254.255.255.254

Question Number : 28 Question Id : 25498922681 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

While working in an MS-Word 2019 document, if some data gets erased accidentally, what will you do to restore it?
Options :

1. % Press 'Ctrl + R

2. % Press 'Ctrl + X'

3. % Press 'Ctrl + V'

4. % Press 'Ctrl + Z'

Question Number : 28 Question Id : 25498922681 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Word 2019 SIGIHE TR HTH Hd THI 3R e ¥ $B Sel fHeT g Jrdr 8, 1 31T 38 SIaRT ol U $H?
Options :

1. ® "Ctrl + R" qd[hR




2. % "Ctrl + X" qdIh}
3. % "Ctrl + V" qd[h
4. % "Ctrl + Z" qdIh

Question Number : 29 Question Id : 25498924439 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following Linux file systems does NOT support the journaling feature?
Options :

1. ¥ Ext2

2. % Ext3

3. % Ext4

4. % Ext5

Question Number : 29 Question Id : 25498924439 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

9 & 9 S 1 ey Brsd Red SHfeiT Bad &1 uIc 8] Bl 82
Options :

1. ¥ Ext2

2. % Ext3

3. % Ext4

4. % Ext5

Question Number : 30 Question Id : 25498925362 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following belongs to the category of non-impact printers?
Options :

1. #* Drum printer

2. % Dot matrix printer

3. % Daisy wheel printer



4. % Laser printer

Question Number : 30 Question Id : 25498925362 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

e 7 Q&1 a1 fUiex Fi-gHde el &1 9ol 3 Feifdd 82
Options :

1. % g fiic’

2. % gfe Ofeay fifex

3. % gult @id iR

4. ¢ AR IR

Question Number : 31 Question Id : 2549896457 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Some web pages are divided into independent panes named as:
Options :

1. % Excel

2. % Outlook Express

3. ¥ Frames

4. * Boxes

Question Number : 31 Question Id : 2549896457 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

$3 99 Uoll Bl WA M A fawa fearmarg fore . W fear S g1
Options :

1. % Excel

2. % Outlook Express

3. ¢ I

4. % SIRY



Question Number : 32 Question Id : 2549896524 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

With respect to character encoding, UTF stands for:
Options :

1. % Union Transfer Format

2. % Unique Transfer Format

3. % Unicode Transformation Format

4. % Unicode Transit Format

Question Number : 32 Question Id : 2549896524 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

DRI THIST & T T, UTF BT R A gl
Options :

1. % Union Transfer Format (’Iﬁ‘m:[ TIIHY W\ﬁa

2. ¥ Unique Transfer Format (g ¢RIHR Hidc)

3. ¥ Unicode Transformation Format (q\ﬁq?ls ;\R—IWTJ-‘&H BiH <)

4. % Unicode Transit Format (A®IS Tifole Hidc)

Question Number : 33 Question Id : 2549896541 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following protocols is used to send or receive files between two computers?
Options :

1. # SLIP

2. % URL

3. % Internet Explorer

4. ¥ FTP

Question Number : 33 Question Id : 2549896541 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

& SR & S BRI Vo 1 UT HRA & fore e & o Tieiera ST fasan S g2
Options :

I. % SLIP

2. % URL

3. % $TC TRERR

4. % FTP

Question Number : 34 Question Id : 2549897042 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
With respect to e-mail, POP stands for:
Options :

1. # Post Office Program

2. % Post Office Protocol

3. % Popular Office Program

4. % Protocol On Protocol

Question Number : 34 Question Id : 2549897042 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

3-0d & ey §, pop BT 31 &:

Options :

1. % U 31y MuH (Post Office Program)

2. ¢ U Ay WMeidhid (Post Office Protocol)

3. % q\w AT T (Popular Office Program)
4. ® Yiciold 39 Ueibid (Protocol On Protocol)

Question Number : 35 Question Id : 2549897396 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Which tab is used in MS Word 2016 to insert End note?
Options :

1. ¥ INSERT

2. ¥ REFERENCES

3. % TABLE

4. % FORMAT

Question Number : 35 Question Id : 2549897396 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Word 2016 H, B ¥ ¢F BT IUIAN b 3T TS e’ Bl 3¢ B Adbhd 82
Options :

1. % INSERT

2. ¥ REFERENCES

3. % TABLE

4. % FORMAT

Question Number : 36 Question Id : 2549897479 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the key combination to change the pointer to an arrow if the currently selected pointer is a pen, in a slide show mode in MS PowerPoint?
Options :

1. % ALT+A

2. % CTRL+A

3. % ALT+P

4. % CTRL+P

Question Number : 36 Question Id : 2549897479 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS PowerPoint W28 XM WS H, S g0 & T9fd Uigex U U4 &, ol Uigex &1 W1 H gga- & forg ot JaieH o1 g2




Options :

1. # ALT+A
2. % CTRL+A
3. % ALT+P
4. % CTRL+P

Question Number : 37 Question Id : 2549897485 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the key combination to toggle between play and pause in a slide show mode of MS PowerPoint?
Options :

1. * ALT+T

2. % ALT+P

3. % ALT+M

4. % ALT+Q

Question Number : 37 Question Id : 2549897485 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS PowerPoint & T3S M HIS H W 3R U & &g ST HRA o ToTT Froll FaTor ol g2
Options :

1. % ALT+T

2. % ALT+P

3. % ALT+M

4. % ALT+Q

Question Number : 38 Question Id : 2549898041 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT a chart type in MS Excel?
Options :

1. # Bar



2. % Area
3. % Fusion

4. % Line

Question Number : 38 Question Id : 2549898041 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Excel #, Fafaf@d & 3 1 91 faswed, 91 o1 UoR 781 82
Options :

1. % dRR

2. % TR

3. ¢ TRIRH

4. % ol

Question Number : 39 Question Id : 2549898064 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Various kinds of correlations between variables with a certain confidence interval are proposed by type of chart in MS Excel.
Options :

1. % radar

2. % scatter

3. ® polar

4. % pie

Question Number : 39 Question Id : 2549898064 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Excel H, TRad=Md axqsil & ot Ay & Te iy siqvra afed fafid UeR & uRwaR® day, UhR &b TTe gRT UKTdd
fParSmar g |

Options :

1. % ISR




2. ¥ THR
3. % IR
4. % U

Question Number : 40 Question Id : 2549898098 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the address of the MS Excel cell which lies at the intersection of the fifth row and seventh column?
Options :

1. ¥ G5

2. % 5G

3. % E7

4. = TE

Question Number : 40 Question Id : 2549898098 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Excel & Uiad] tfakt SR A1dd Hiad & Ufdese R RRUT HIFS (cell) FHT A 379 § DI IT I
Options :

1. ¥ G5

2. % 5G

3. % E7

4. = TE

Question Number : 41 Question Id : 2549898116 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

are useful when you want to find the optimum combinations between two sets of data. As in a topographic map, the colors and patterns
indicate the areas that are in the same range of values.

Options :
1. # Line charts

2. % Bar charts



3. # Pie charts

4. " Surface charts

Question Number : 41 Question Id : 2549898116 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SR s AT AR & 8T 8, 11 3R Ue 3 &3 &1 a¥id § ol Jed! &1 99 o7 § g1 99 IUAHT 81 § 519 319 SeT & &
It & S SYaH Ao Qi I78d & |

Options :

1. ® T

2. % gRATC

3. % g e

4. ¥ WHY e

Question Number : 42 Question Id : 25498910475 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Arrange the following steps to capitalise the first letter of each word and leave the other letters lowercase in MS Word 2016.

a) On the Home tab, in the Font group, click Change Case (Aa).
b) Select the text for which you want to change the case.

c) Click on the Capitalize each word option.

d) Choose option.

Options :

1.+ b,a,d ¢
2. % b,a,c,d
3.% b,d,a,c
4. % b,c,d, a

Question Number : 42 Question Id : 25498910475 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Word 2016 H, T et P UG &R Dl F5T B 3R 3T 31eR} &l N3RHY & Bl ¢4 & e g =Rl &) sqafyd & |




2) B ¢ W, i YU H, I Y (Aa) R fFad H1 |
b) 98 TR TIP3 oI 31U HY TS I8d & |
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Options :

1.¥b,a,d,c

2. % b,a,c,d

3. % b,d,a,c

4. % b,c,d, a

Question Number : 43 Question Id : 25498910522 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A is a device usually connected to a computer. Its main function is to scan or take a picture of the document, digitize the information and
present it on the computer screen.

Options :

1. * printer
2. % projector
3. * monitor

4. ¥ scanner

Question Number : 43 Question Id : 25498910522 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TP IUHU § ol AR TR HHR I ST BIdl & | THBT T BT SIGTAC P Wb HRAT AT ST deaR a1, THBR] Dl
fSfTeTe HRAT 3R 3 HELR ThIH R UId BT |

Options :

1. % iR

2. % Yloldex

3. % OiHR

4. HR




Question Number : 44 Question Id : 25498910589 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Indents change how the text is placed in the Word Document.
Options :

1. ¥ horizontally

2. % vertically

3. % both horizontally and vertically

4. % diagonally

Question Number : 44 Question Id : 25498910589 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

3SCY, S AV HeRE B Hd W T & 39 deadl ¢
Options :

1. ¢ &fisi

2. % JHEBR

3. % QI Qe SR YR

4. % foR®

Question Number : 45 Question Id : 25498910632 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the default line spacing in MS Word 2016?
Options :

1. * Single

2.% 1.15

3.% 15

4. % Double

Question Number : 45 Question Id : 25498910632 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

MS Word 2016 ¥, fSWiee g TR o 82
Options :

1. % e

2.9 115

3.% 15

4. % S

Question Number : 46 Question Id : 25498910694 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the "More>>" option present in replace dialog box of MS Word 2016, which options are available?
Options :

1. * Print.

2. % Format, Special, and Search options

3. # Layout

4, % Review

Question Number : 46 Question Id : 25498910694 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Word 2016 o @RI STANT Sidd & ITRYT “More>>" HRM H DI I fadhed Iuasd 62
Options :

1. % fiic

2. ¢ Hite, WA 3R 94 fadbe

3. % d33C

4. % Rg

Question Number : 47 Question Id : 25498911469 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

In MS Word 2016, the Bibliography option appears under menu tab.
Options :

1. # VIEW

2. % HOME

3. % REVIEW

4. ¥ REFERENCE

Question Number : 47 Question Id : 25498911469 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Word 2016 &, fSaferaume! (Bibliography) fdbed B 29 & 3idvid fd@ar 7|
Options :

1. % VIEW ()

2. % HOME (819)

3. % REVIEW (Re)

4. ¢ REFERENCE (YB3

Question Number : 48 Question Id : 25498913311 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
PivotTables are useful for:

Options :

1. # creating image manipulation tasks

2. % understanding of small quantities of data
3. ¥ creating unweighted cross tabulations

4. % creating forms to capture information and save the contents as a file

Question Number : 48 Question Id : 25498913311 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fOae T9d foraes fore Iyt &2



Options :

1. % fUgeR AFTeei=E S &1 FHafo e

2. % SCI D! BIC! AT DI GHIAT

3. ¢ SRATHT B CHIARM ST

4. % BRI P =R B R I Bl BIsd b U H Jgoi+ & [T BIH §=H1

Question Number : 49 Question Id : 25498913316 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In MS Excel, the PivotTable option appears under menu tab.
Options :

1. ¥ HOME

2. % DATA

3. ¥ INSERT

4. % FORMULAS

Question Number : 49 Question Id : 25498913316 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Excel H, fUdle ¢ad (PivotTable) fdmed - ﬁiﬁa & 3fid feaar g
Options :

1. % g9 (HOME)

2. % STT(DATA)

3. ¥ 3¢ (INSERT)

4. % AN (FORMULAS)

Question Number : 50 Question Id : 25498918954 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
How to apply indent to a paragraph from the left margin using shortcut in MS Word?
Options :



1. ¥ CTRL+O
2. % CTRL+P
3. % CTRL+Q
4. ¥ CTRL+M

Question Number : 50 Question Id : 25498918954 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Word , f ¥ QiTéahe &1 TN b als 3R I WRIUTH &I S3¢ HY AR Hd /7

Options :

1. # CTRL+O
2. % CTRL+P
3. % CTRL+Q
4. % CTRL+M

Question Number : 51 Question Id : 25498932162 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Video-enabled meetings happen in two distinct ways: either point-to-point or with
Options :

1. ¥ multi-point

2. % single-point

3. % virtual-point

4. % real-point

Question Number : 51 Question Id : 25498932162 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

ST Gem 93 Gl STET-3HTT UHR I gl &: Tl Ulse-g-aree a1 & Ty |
Options :

1. ¢ Hecl-Ulse




2. % RivTa-dige
3. % ggo[d-ursc
4. % gd-Uise

Question Number : 52 Question Id : 25498934471 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
feature allows the viewer to watch the selected movie or TV content whenever at his or her schedule’s convenience.

Options :

1. # Online

2. % On demand
3. % Live

4. % Offline

Question Number : 52 Question Id : 25498934471 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

WR axieh B U Aegd B! AT b STIR Tafd 7t a1 et @ Bt Al ST |

Options :
1. % 3f-TairgA
2. ¢ 3 fgars
3. % dled
4. % 3ftelrs

READING COMPREHENSION
Section Id : 2549896841
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Section type : Online
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Section Marks : 5

Display Number Panel : Yes
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Sub-Section Number : 1
Sub-Section Id : 2549896882
Question Shuffling Allowed : Yes

Question Id : 25498921067 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (53 to 57)

Read the given passage and answer the questions that follow.
Our Garden

24-7-16

Monday

Dear diary,

It was a hot and humid morning today. I woke up in a good mood because I was going to a nursery with my father. A nursery is a place where
young plants and trees are grown for sale or for planting elsewhere. You could also buy many things required for gardening there. I love gardening
and Mr. Shyam’s nursery is my favourite place.

The flowers and shrubs at the nursery were already in full bloom. There were yellow roses and white daisies. After a long dry summer, the bright
colours of the flowers and leaves were very pleasing.

Father said, “Let’s go and do some shopping.” I pushed the shopping cart while Father put things in it. We bought bags of manure, some
gardening tools, a few pots, marigolds and a neem tree sapling.

We bought vegetable seeds for our kitchen garden: radish, carrot, tomato, chilly and beetroot. “Are you sure we should get lettuce?”’ I asked
Father. “Remember how the worms ate all the lettuce away last year during the rains?” I reminded him. “I am going to spray the plants with some
garlic soap this year to keep the worms away.” After Father and I had filled our trolley, we parked it under a shady tree and went to look for some
more plants or seeds we could buy.

We paid for all the things and came home. Then, we spent the rest of the day working in the garden. I am now very tired but happy too. The
garden looks wonderful and soon we would have our own vegetables for the kitchen! I can’t wait to eat the vegetables we have planted with my
own hands.

Sub questions



Question Number : 53 Question Id : 25498921068 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Jacob was in a good mood because:
Options :

1. # he did not have to go to school
2. % he was going to a nursery

3. % he was going shopping

4. % it was hot and humid

Question Number : 54 Question Id : 25498921069 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is NOT made by Jacob?
Options :

1. # Ican’t wait to eat the vegetables.

2. % T am going to spray the plants with some garlic soap.
3. % Tam now very tired but happy.

4. % Mr. Shyam’s nursery is my favourite place.

Question Number : 55 Question Id : 25498921070 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Jacob and his father went to the nursery to buy:
Options :

1. ¥ vegetable seeds, manure and garden tools
2. % yellow roses and white daisies

3. #* shrubs, flowers and trees

4. % carrots, tomatoes, chillies and beetroot

Question Number : 56 Question Id : 25498921071 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



After filling their trolley, Jacob and his father parked it:
Options :

1. % at home

2. % inside the nursery

3. ¥ under a shady tree

4. % in the garden

Question Number : 57 Question Id : 25498921072 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is NOT true?

Options :

1. # Jacob loved shopping at the nursery.

2. % Jacob felt happy to see the bright colours of the flowers and leaves.
3. ¥ Jacob was happy to work in his garden.

4. % Jacob and his father decided not to plant lettuce again.

Question Id : 25498921067 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (53 to 57)
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Sub questions

Question Number : 53 Question Id : 25498921068 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Ued S qS WU |ifr |
Options :

1. % IY I ol o1 ol

2. ¢ 8 TIRI STIGT AT

3. % 98 WRIGRI & feru o Igr T

4. % AT iRAH U1

Question Number : 54 Question Id : 25498921069 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 55 Question Id : 25498921070 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

VHF AR IS U Wi & e = A e A
Options :

1. ¢ ool & ], @G 3R Sl &b JuDHl

2. % Gid TaTd 3R e Son

3. % FI$l, Bt SR U

4. % TSR, THTCR, fird 3R goher

Question Number : 56 Question Id : 25498921071 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ® RH

2. % TN & 3R

3. ¢ T BAGR US & g

4. % FAH

Question Number : 57 Question Id : 25498921072 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 58 Question Id : 25498914314 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

AT wea # 9o fEa (?) & TU 9T 4T HIUe?

[(3024 . 189)7 + (684 = 19}2] _ (7)? + 459

Options :
1. % 27
2.9 29
3. % 31

4. % 841

Question Number : 58 Question Id : 25498914314 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

L



Options :
1. % -27
2.9 29
3. % 31

4. % 841

Question Number : 59 Question Id : 25498928887 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

L

Options :
1. % le.
2. % o,

3.4 |

4 % 32mem

Question Number : 59 Question Id : 25498928887 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Ll
Options :
1. =

L
2. % |

3. ¥ .

4. % |,



Question Number : 60 Question Id : 25498928899 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

L

Options :
1. *= 4810
2. % 4980
3. ¥ 4895
4. % 4930

Question Number : 60 Question Id : 25498928899 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

LaF.

Options :
1. # 4810
2. % 4980
3. ¥ 4895
4. % 4930

Question Number : 61 Question Id : 25498928970 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

L

Options :
1. % 50

2. % 200
3.4100
4. % 150

Question Number : 61 Question Id : 25498928970 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

L

Options :
1. * 50

2. % 200
3.¥100
4. % 150

Question Number : 62 Question Id : 25498928983 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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80, 76.5, 69.5, 59, 48, 27.5
Options :

1. % 275

2. % 59

3. % 76.5

4. % 48

Question Number : 62 Question Id : 25498928983 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the number that is INCORRECT in the given series.

80, 76.5, 69.5, 59, 48, 27.5
Options :

1. % 275

2. % 59

3. % 76.5

4.9 48



Question Number : 63 Question Id : 25498929479 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

LaF.

Options :
1. %5
2.% 6
3.7
4. % 8

Question Number : 63 Question Id : 25498929479 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Ll
Options :
I.*5
2.% 6
3.7
4. % 8
GENERAL MENTAL ABILITY AND REASONING
Section Id : 2549896843
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Number of Questions to be attempted : 6
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Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes

Maximum Instruction Time : 0



Sub-Section Number : 1
Sub-Section Id : 2549896884
Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 25498912862 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Answer the following question based on the given arrangement.

YW@1&CN3PLB91=D*E2£MVS$T7#4FGS5
Select the option that is related to the third term in the same way as the second term is related to the first term.

CI3W:74VG:N@B=:?
Options :

1.*8$42D

2. VF2D

3.% §F2%

4. ¥ S$F2D

Question Number : 64 Question Id : 25498912862 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1.*8$42D

2. VF2D

3.% §F2%




4. ¥ S$F2D

Question Number : 65 Question Id : 25498912873 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Find out how many pairs of letters are there in the given word each of which has as many letters between them in the word as in the English
alphabet.

PRODUCTION
Options :
1. #* Nil
2. % One
3. % Two

4. % Three

Question Number : 65 Question Id : 25498912873 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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PRODUCTION
Options :

1. % Y

2. % U

3. % Q)

4. G

Question Number : 66 Question Id : 25498918986 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In the following pair, find two words related to the words already given, one word for each of the two related pairs.

I : Canada :: Yangon : II



L. (1) Detroit (2) Florida (3) Toronto (4) Durban
II. (A) Indonesia (B) Myanmar (C) East Pakistan (D) Ceylon

Options :
1. % 2B
2. % 3A
3.¥ 3B
4. % 3D

Question Number : 66 Question Id : 25498918986 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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1: HAST = A - 11

L (1) SCITC (2) TARST (3) TR (4) B&

L. (A) SHRMAT (B) MR (C) Ydf wifersd™ (D) Tam
Options :

1. % 2B

2. % 3A

3. ¥ 3B

4. % 3D

Question Number : 67 Question Id : 25498919815 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In a certain code language,

‘P @ Q’ means ‘P is the mother of Q’;
‘P $ Q’ means ‘P is the husband of Q’;
‘P # Q’ means ‘P is the sister of Q’;

‘P * Q” means ‘P is the son of Q’.



How is H related to K in the given expression?
M*H@D$K

Options :

1. * Mother

2. % Father

3. * Father-in-law

4. ¥ Mother-in-law

Question Number : 67 Question Id : 25498919815 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

s A Fe ymw H afe:
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M*H@DS$K

Options :

1. % Hral

2. % fUar

3. % TR

4. ¢ Y

Question Number : 68 Question Id : 25498920155 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Four words have been given, out of which three are alike in some manner and one is different. Select the word that is different.
Options :

1. # Consent



2. % Dissent
3. # Assent

4. % Concurrence

Question Number : 68 Question Id : 25498920155 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % ggafd

2. ¢ 3gHld

3. % Wipld

4. % gIHA

Question Number : 69 Question Id : 25498927889 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the option that is related to the third word in the same way as the second word is related to the first word.

House : Garbage :: Ore : ?
Options :

1. * Rubbish

2. ¥ Gangue

3. * Sand

4. # Dregs

Question Number : 69 Question Id : 25498927889 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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U DSl HYID : ?
Options :

1. % 3Ry

2. v Y

3. % d

4, % dclsdc

GENERAL AWARENESS
Section Id : 2549896844
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 6
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549896885
Question Shuffling Allowed : Yes

Question Number : 70 Question Id : 2549899821 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¥ IS SBRA

2. ¢ dig RuA

3. % dls o



4. % dls gIfaT

Question Number : 70 Question Id : 2549899821 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who among the following repealed the Vernacular Press Act?
Options :

1. # Lord Dufferin

2. % Lord Ripon

3. % Lord Curzon

4. % Lord Hardinge

Question Number : 71 Question Id : 25498912532 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¥ O3 WRd

2. % CO, URd

3. % SO, d

4. % 0, Id

Question Number : 71 Question Id : 25498912532 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Supersonic jets cause pollution by thinning of:
Options :

1. ¥ Oj layer

2. % CO, layer

3. % SO, layer



4. # 0O, layer

Question Number : 72 Question Id : 25498912764 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
S lee’ Teg I Tay fhad g7
Options :

1. % 9Ydid

2. % M

3. ¢ ¢

4. % forol

Question Number : 72 Question Id : 25498912764 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The term 'double fault' is associated with:
Options :

1. % baseball

2. % golf

3. ¥ tennis

4. % bridge

Question Number : 73 Question Id : 25498932120 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

ify e dRIuis v yeard off|
Options :

1. % ISHRSB

2. % il

3. IS Hribdl

4. % fhH ¥R



Question Number : 73 Question Id : 25498932120 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Late Nirmala Deshpande was a famous:
Options :

1. % diplomat

2. % astrologer

3. ¥ social activist

4. % film star

Question Number : 74 Question Id : 25498932507 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T SRanT (Norman Borlaug) &T &Y e a3 feaa g
Options :

1. ¢ gRd shifd

2. % YA Hifd

Question Number : 74 Question Id : 25498932507 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Norman Borlaug is associated with:
Options :

1. ¥ Green Revolution

2. % White Revolution

3. # Blue Revolution

4. % Brown Revolution

Question Number : 75 Question Id : 25498932593 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % 3G 14 3R 15
2. % 3G 16 3R 17
3. ¢ 3G 20 3R 21
4. % TG 24 3R 25

Question Number : 75 Question Id : 25498932593 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following pairs of articles of the Constitution of India relating to the fundamental rights CANNOT be suspended during the
enforcement of emergency under Article 359 of the Constitution?

Options :

1. # Articles 14 and 15
2. % Articles 16 and 17
3. % Articles 20 and 21
4. % Articles 24 and 25
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Question Number : 76 Question Id : 25498940809 Question Type : TYPING TEST Display Question Number : Yes Calculator : None

Summer camps are supervised camps conducted to entertain as well as equip students with various life skills such as teamwork,
socializing, decision making, independent and responsible living and more. It aids the overall development of a child and children have
fun during this process as they get to explore new arenas.
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Growing a tree can be quite difficult. It may be confusing trying to determine the essential considerations that are needed to help grow
your trees efficiently and successfully. If you are looking for help to care for a new tree, it is unlikely that you have started it from a seed
or a seedling. Most new trees intended for landscaping that have been uprooted from a nursery and carefully cared before being bought.
In any case, young trees are much more like what is called transplant shock. This shock happens because transplanted trees can lose up to
ninety percent of their root systems when they are moved. Smaller trees do better when they are transplanted. For every inch of tree
diameter, it needs a year of recovery time. The bigger a tree is when it is moved, the more of its root system has been lost and the more
time it will take to re establish itself. Let us talk about the basics every growing tree needs. Soil. When we talk about soil, we are first and
foremost talking about location. The ground that your tree is planted in will have a massive effect on its development. That means before
you place a new tree, you need to make sure that the location you are choosing will be right for its better health. Sunlight. Photosynthesis
is the process of the conversion of light energy to chemical energy and storing it in the bonds of sugar. In other words, photosynthesis
allows sunlight to give your tree the ability to produce food. When a tree leave is shaded and is not provided with enough sunlight, the
number of leaves and sugars produced will decrease. Each tree depending on its species will need a distinctive amount of sunlight. When
a tree is deprived of sunshine, it is a critical situation as the ability to produce food is reduced or completely diminished and your tree
may not survive. Watering. Most essential thing for establishing a new tree than nutrients in the soil is water. A new tree needs to focus all
of its energy on getting set. Growth nutrients will stress the tree, which does not need to produce more leaves or fruit. However, those
shocked roots need water and lots of it. You will have to water your new tree until it is established, which can take months. New trees will
need to be watered every day as they lack their feeder root or taproot. After two weeks, they may do well with being watered every other
day. It is important to note that it is also easy to over water a new tree and Kkill it that way. You need to pay attention to what you can see.
If your new tree loses more than half of its leaves, it might be an indication that you are watering too much if you are watering every day.
Brown leaves usually mean the tree is not getting enough water especially if they start to brown around the margins. The surface of your
soil can not tell you very much as it can be wet when several feet down it is too dry and vice versa.
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